
Fragen	
  zu	
  Kapitel	
  9:	
  
1. Was	
  hat	
  Nietzsche	
  in	
  Bezug	
  auf	
  die	
  Moralphilosophie	
  bzw.	
  deren	
  Zustand	
  laut	
  

MacIntyre	
  richtig	
  erkannt	
  und	
  wahrgenommen?	
  
2. Ergänzen	
  Sie	
  den	
  folgenden	
  Satz:	
  „Die	
  moderne	
  Moralphilosophie	
  verfügt	
  nicht	
  

über	
  die	
  Mittel,	
  um	
  moralische	
  Probleme	
  zu	
  lösen,	
  weil...“!	
  
3. Erklären	
  Sie,	
  was	
  MacIntyre	
  mit	
  dem	
  Verweis	
  auf	
  das	
  „Tabu-­‐Beispiel“	
  illustrieren	
  

möchte.	
  
4. Warum	
  ist	
  Nietzsches	
  „Übermensch“	
  gemäß	
  MacIntyre	
  eine	
  notwendige	
  

Konsequenz	
  aus	
  seiner	
  Kritik	
  an	
  der	
  Moralphilosophie	
  seiner	
  Zeit?	
  
5. Skizzieren	
  Sie	
  die	
  aristotelische	
  Argumentation	
  mittels	
  derer	
  MacIntyre	
  die	
  

These	
  Goffmans	
  „Erfolg	
  ist	
  das,	
  was	
  als	
  Erfolg	
  gilt“	
  kritisiert.	
  
6. Welche	
  Rolle	
  kommt	
  Nietzsche	
  und	
  welche	
  Rolle	
  kommt	
  der	
  aristotelischen	
  

Moralphilosophie	
  in	
  MacIntyres	
  Kritik	
  an	
  der	
  Moderne	
  und	
  der	
  Aufklärung	
  zu?	
  
Versuchen	
  Sie	
  die	
  Begriffe	
  „Diagnose“	
  und	
  „Therapie“	
  zu	
  verwenden!	
  

7. Was	
  ist	
  laut	
  MacIntyre	
  die	
  wichtigste	
  Frage	
  der	
  Ethik	
  und	
  welche	
  Frage	
  ist	
  für	
  die	
  
moderne	
  Ethik	
  zentral?	
  

	
  


